Straight lines (HKMO Classified Questions by topics)
1984 FI2.3

BLAGS, o) B M 2y=x+15+ » K chiE o
The point  A(5, ¢)
1987 FI4.3

B Sx+17y+2=d HEH (40,5) o K diE o

The line 5x + 17y + 2 = d passes through (40, 5). Find the value of d.
1988 FG7.3

lies on the line 2y =x+ 15 . Find the value of c.

i (4,3) 2 (12,-3)E & ﬁ£{£+%=l o Fq thid o
a

The equation of the line through (4, 3) and (12, -3) is

=

SR A
b

Q

Find the value of a.
1989 F12.2
Bk B (7,0) BB R Sx+2y=41 1 o £ behig o
The point (7, b) lies on the line 5x + 2y =41 . Find the value of 5.
1991 HI4
F3F2 2x+3y+a=0 % bx-2y+1=0 & F- 28 £ 6(atbh) g -
If the equations 2x + 3y + a = 0 and bx — 2y + 1 = 0 represent the same line,
find the value of 6(a + b) .
1997 FI11.3
F yv=mx+tc TR HEE 4,5 % (-2,2) 3@ fchid o
Find the value of ¢ so that the graph of y =mx + ¢ passes through the two
points (4,5) and (-2,2).
2000 HI10
FEE 3x—y-4=0 22 (2,2) B EFEY o
Find the shortest distance between the line 3x — y — 4 = 0 and the point (2, 2) .
2001 HI4
Yo% THZEE SApR -8 R ¢ gE o
If the following three straight lines intersect at one point, find the value of ¢ .
Li:6x+6y—19=0
L 18x+ 12y +c=0
L3:2x+3y—-8=0
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2003 F14.2
CATZ X E R dxty=4omxty=0 fv 2x-3my=4 F it L - Bz £
E m>0% QF_ m hd | FahiE s K Qhig e
Given that the lines 4x + y =4, mx +y =0 and 2x — 3my = 4 cannot form a triangle.
Suppose that m > 0 and Q is the minimum possible value of m ,
find the value of Q.
2004 FG2.4
FES y=x+d & x=—y+d p23g d-1,d)> & d 5 -
If the lines y = x + d and x = —y + d intersect at the point (d — 1, d) ,
find the value of d .

2007 FI1.2

eBl- 0 BB 0 KBEN2, )T x fhd 45°% ;

£ o

% 0 L x+tmy+n=02% b=|1+m+nl> 2.3
F b i o

In Figure 1, the straight line ¢ passes though the
point (2, 3), and makes an angle 45° with the x-axis.
If the equation of /¢ is x+my+n =0 and b =|1+m+n|,
find the value of b .

45°

2017 HG1

K AMBC 5 - %" &= 47> 58 4 2 B ks uli (2,0 %
(18,0) ¥ C ehihd tfice § AABC o ff 5 B/ P> K C e fh o
AABC
of the vertices 4 and B as (-2, 0) and (18, 0), respectively, and the coordinates of

Suppose that is an isosceles right-angled triangle with the coordinates

C having positive values. Determine the coordinates of C when the area of AABC
attains its minimum.
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2019 HI7

eRle ¥ AB ¥ CD X EcX o o @

In Figure 4, AB and CE intersect at E. .
Let the length of AE be g units. Findthe ® o ®
value of g . ¥ 4 8
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2019 FI12.2

L

e & & o @

Figure 4

FEH y=mx+B 5iEA 8 (4,5 v (-2,2)> £ B g o

If the straight line y = mx + B passes through the two points (4, 5) and (-2, 2) ,

determine the value of B .
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Answers
1984 FI2.3 | 1987FI43 | 1988 FG73 | 1989FI22 | 1991 HI4
10 287 8 3 _17
2003 FI4.2
1997 FI13 | 2000 HII0 | 2001 HI4 2004 FG2.4
3 0 47 2 I
3
2007F2 | 2007HGT | T 10 F
I (8, 10) ¥ 3
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